GATITU SECONDARY SCHOOL, P.Q. BOX 327 — 01630, GATUNDU.

FO MA TICS MID ATION. 13.
INSTRUCTIONS: _

NAME: MOR )G S ADM CLASS
-Write your name and admission number in the spaces provided abo

- The paper consists of two sections.

- Answer all the questions in section A and only THREE questions from section B.
—Aﬂanswersandwmhngmustbewnﬁmonthe estion paper in the spaces provided

- Marks may be given for correct working even if the aﬁsmriswrong.
- Non-programmable silent electronic calculatotﬁ and KNEC Mathematical tables may be used
except where stated otherwise.”

SECTION ‘A’ (40 marks)

1.The mean of five numbers is 15 andlhémeanofﬁnﬂ)ereightnosisz Calculate the mean of
all the thirteen numbers. .| (Bmks
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2. Make X the subject of the formulain y+x>=(x+t)(x +y) (3mks
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3. Find the value of X in the equation Logs X - 4log.3 = -3 ' (Amks
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4. Rationalize and simplify
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o  Simplify 1+ J3) (1~ J3) andhenceevaluate 1J§_ giving your
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Answer correct to 3 significant figures.

S. Giventhatlog}}-* 0.6813 and log s 2=0.4368 evaluate
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6. Given th&?three mnnkrs X, Y and Z are in the ratio 6:4:5, find the value of

3X -y
4y - z
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7. The dimensions of a rectangle are 20.0cm and 25.0cm. Find the percentage error in

calculating the area.
20.06 19-9%
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8. Ashipwvas60hnonabearhgof230..l£ﬂmclm:gwcmmmdheadsdmwmtfm
80km, determine its direct distance from the starting point.
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9.  Evaluste 43.25 % 0.9371
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2. A roctangle PQRS has co-ordintes

hMPRisy:x_.z, Find.

P(4,2) and Q(2, 8). Given that the equation of the
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ii) Distance of tower A from D (2mks

iii)  Given that tower C is70mhigh,calculateﬂleangleofdeprasionofthebouomoftower
B from the top of tower C. (3mks

iv) Calaﬂatcﬂwsllonestdistanceﬁomﬂlewpoftower C to the top of tower A which is
36m high. ’ (3mks
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4.Acivilservanteamsahasicsalaryofsh42,500p.m.navellingallowanceofshﬂ%()p.m.and
medical allowance of shi2200 p.m. He is entitled to a tax relief of 1162 p.m. If he pays sh
12,540 as P.A.Y.E, Calculate his taxable house allowance . Use the table below in your

calculation. /.6 Roue fec v v (10mks
‘ Q‘J\a . B e —————— i
1 - 5808 2
5809 - 11280 3
11281 . 16752 4
. 16753 - 22224 5
22225 and above 6
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